Wednesday, January 31, 2024 A

EE 362 Electronic, Magnetic, & Optical Properties of Materials
Quiz 2 (Spring 2024)
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Instructions: Open book & notes. Place answers in indicated spaces. Show all work. Use 4-5 significant figures.

Using the newly released QUEG (Quantum Electron Glue) by TomCo, 5 resting electrons are glued together
to create a pentaelectron (Se-). Find the rest mass and charge of the pentaelectron. Next, the pentaelectron
is accelerated by an electrostatic potential of 0.5 V in a vacuum chamber. Determine the kinetic energy (eV
and J), momentum (kg-m/s), velocity (m/s), and de Broglie wavelength (f&) of the pentaelectron.
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Wednesday, January 31, 2024 B

EE 362 Electronic, Magnetic, & Optical Properties of Materials
Quiz 2 (Spring 2024)

Name /éery g

Instructions: Open book & notes. Place answers in indicated spaces. Show all work. Use 4-5 significant figures.

Using the newly developed QUEG (Quantum Electron Glue) by Doc Ock, 8 resting electrons are glued
together to create an octoelectron (8e-). Find the rest mass and charge of the octoelectron. Next, the
octoelectron is accelerated by an electrostatic potential of 0.8 V in a vacuum chamber. Determine the kinetic
energy (eV and J), momentum (kg-m/s), velocity (m/s), and de Broglie wavelength (f\) of the octoelectron.
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